1.

ol thg Aol A 2x— 8y & MIE Y] —5x+ 3y 7} 9tk o] W A2
Fatolet,

of® ThFAlS Avty £H
A - (2x - 8y) = —5x + 3y ©]1L,
A =-5x+3y+2x—-8y

= -3x-05y




[+ -4y =sx—6°IA[ o] gure 4]

e
i

afat,

D 3x-2 © 4x+2 © 4x-2
® -4x+2 © -4x+4

[ =

> HED ©

[ I=06x-6)-(x-4)
=bx-6-x+4
=4x-2




@® 3(x-1)-3x

@ bx="Tx—-2x

® 44+5<2+x

3x—3

5x—5

5

® 2(4x+3) =18 +4(2x - 3)

3

RTORT T
Ho blo ®o =T
° 1k mo o

SNGRCNG)




ta T x 9] gkl ek el =71k shal, A3le] HY|k ste T4

=7
O 2x+1)+(x-1) @ 2(x-1)=2x-2
® 2x-3 @ 0




a(x—1)

2

— 1987k x= 1 Y W, q o] FHL?

® 0

@ 1

®

[S28 )




a7k x = -3 A W, a 9] ghe Tt

4+3a—-8a=24
—-5a =20,a=-4




akm o] A2l S ART 20

o1 17 —§3/\]Z—}%

= Aj83 402 ehole,

e kan/h
> =g gkm/h
(&= = 71D

R g(km/h)




= LERE?

Falo

__01_

oo

1g A

X
al2|
o
alg

—

~G

N

op

E A& 3km 2

xkm ] A2

™R

@ x+3 A




